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SECTION—A / %=1 / F—a1 / F—aTerit / H—Im

1~ The number of decimal places after which the decimal

€xpansion of the rational number 145§8 will terminate is
62

AR SR 122?3?*1&@%%@3@@%1‘%%%5@5"”

145
AfRCT Sz 6228 9 ™S PR Fare @R ™R B o OF
7

Wmaﬁmlzzégaﬁaﬁmgﬁlﬁmmﬁ#ﬁmmaﬁﬁm
AR ?

. 14588
gf@g g@m = w1 IeE yarw Fefefad fve symee o w 9w

M (b) 3 Jﬁ( (d) 5

hich one of the following is a rational number?

TEq (! SARCIY F40 2

Neva @0 ARG 501 ?
et AT TASE S
Frafefaa & @ S9-9 afda gemn 27
2 V2 ¥5 J3
@ 73 Y o @) =
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\:i/f{product of the zeros of 4u? +8u is 1

4u? + 8u 3 *FITIVR R 27 ;.
4u? + Bu-93 *FGER R 2
4u? + Sy Ft wfE SR ARSI ST

442 + 8u ¥ YA F IATEA A @

(@ 4 (b) 8 (c) 32 (&0

nder what condition will ax® +5x+7 =0 be a quadratic
equation? 1

5 56 TS ax? + 5x + 7 = 0 b1 Fawre e 232
5 1 WTT® ax? + Sx + 7 = 0 o e ANt 23 ?
T e ax? + Sx + 7 = 0 37 WA ST FHEATE SO0

- T F AR R ax? + 5x + 7 = 0 T Teama whwwn g

(@ a>0 yfa<0 () a=0 a#0

5. /fn AABC, ZA =90°, AB =3 cm, BC =5 cm and AD 1 BC. Then
the length of AD is 1

AABC © L’Aigoo, AB =3 &1, BC=5cm & AD. BC Q"@i
AD 3 Ui 23

AABC-(® ZA=90°, AB=3 cm, BC=5 cm 4 AD1BC ¥+
AD-@3 tndi 23
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AABC 319 /A =90°, AB=3 cm, BC =5 cm 3 AD 1 BC Sl

AD T M3
AABC #, /A = 3ﬁ'{ADLBCH‘IADEFT
&= B
5 39
(@) 2 (% |
‘}Ae distance nd (O, 1) 1s !

(1, 0) == (0, 1) R3 T 7oy 2=

(1, 0) @ (0, 1) @ W 739 ==
(1, 0) ™ (0, 1) == TRl SR sTem™

(1, 0) 3R (0, 1) fag & wey
(@) 2 (b2 (c) 1 (d) O

7<" The angle of elevation of the top of a tower from a point on the
ground, which is 30 m away from the foot of the tower, 1s 45°,
The height of the tower is 1

1 FFI MR 1 30 o wiieve $is 21 @1 R @1 vy Tt Som
(P19 45° 2’75 5] ToHo| 3’9

R T AR (e 30 bW e Pice v @l Ry s wrmy
RN THE (P 45° 3o BT Tl 2@

ﬁﬁmﬁqﬁﬁﬁﬁmsoﬁmmmmtﬁqﬁﬁaﬁﬁm
ACIERDICIEE M E c1pe ol i B R D) 45° ST TERA MNergan [y

T WY % I8 Q Somag\ﬂﬁmﬁﬁﬁm%@%m%sﬁﬁmm
FIVT 45° 3| T it 918 B

(@)~"30 m (b) 15 m (c) 10 m (d) 60 m
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\B/If the circumference of a circle is 22 cm, then the area of a

quadrant of the circle is 1

T @1 989 “ARfY 22 = Q. =W, o' FAOR 9B G I 23
I @b e MR 22 1. A =, o=E 3 3 G I =3
e AR SEAt 'riife fmmn 22 3. @ s/, e SEat e sar-af

SSATSIRT ST

TS Th g <l IR 22 Vo Hio A, 9 3% 99 H I9-T T IA F =gy W
=l

(a "§7‘ cm? (b)) 77 cm? (c) ZZZ cm?  (d) LLAP
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\9/1‘&16/ wickets taken by a bowler in 8 cricket matches are as
follows :

a5 A 8 A [ (Yoo e I BRLIO F2| ToTo ;] 41901
GFE @I 86 THIb (o w¥el Fq1 BRLFCoA N [Nwre 371

g8 SA A9 8 fohehe ToMaE @Fl THR 3IFheM SHNHET TMEEE 2™
EHCE

8 forehe Bl o U Tiea g1 W ekl <t W Ffetiea ®

320 1.6, 2, 1, 2
The mode of the data i1s

SffANE I2F 21
6 T2 2J
@R TSreTien SrH
qed} 1 Sgas® 2 __
(@) 3 (b) © (c) (d) 1
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10/ The probability of an event ‘E’ + the probability of the event
not E’ is 1

WAl ‘E’ 3 59l + g5 ‘E T3 1] 2'7

W‘E,“ﬂa G WD ‘EW,”‘W Ec

g E T SE
g1 ‘E H il
(a) 2 (d) 01

Ll_,%he value of 9sec? 60° -9 tan> 60° 1s 1

9sec” 60° - 9tan? 60° 3 T 23
9sec? 60° - 9tan? 60°-93 T TR
9sec? 60° - 9tan? 60° T wHT S

9 scc2 60° — 9tan? 60° &1 9 '

o .
(a) 5 (b) 3 (c) 18J (d)/ 9

W cubes each of volume 64 cm® are joined end to end Then
the surface area of the resulting cuboid is

2O AT 64 W = . [R5 b RED
el 19 1A 1 T,
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e AR 64 71 Q. B TR WY T St S BHEEA
TS, 3Tec SRR rEasTR g7 fog gsemsiean S

YT 64 T Yo Wo MG A A TAI H1 W SR W wAM gAT 71 A
gftorY ST % |ag F SAB o

(a) 128 cm? (b) 176 cm?

(c)~160 cm® (d) 192 cm?
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SECTION—B / a—>¥ / I—*Il / @—aTgr /[ T—ma
13. Prove that 3./2 is irrational. 2

ofTe 11 (T 3+/2 FARTET |
o TR (T 3+/2 AR |

T @™ & 342 31 TASEen |

T 3 o 3/2 3|

14 Find the 10th term of the following arithmetic progression : 2

<7s o S Ao 109 2Meo! A4 341 -
AT Sed 29fefbd 109% omib 8 T

TETATE BAE "Ede sttt 107y feeman g -

SrefaRaa ittt wifa w1 gem 3rEwen & FHviE N
2. U 1B
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. ioini the points
Mme ratio in which the line segment e a ) 1t

(-3, 10) and (6, - 8) is divided by (-1, 6)

(-1, 6) R (=3, 10) % (6, ~ 8) g FKAA (@ ¥ LT 0
A, ﬁcﬁl 41|

(-1, 6) RS (=3, 10) @ (6, — 8) T3y @A @CS & SACS S 20,
efy 7 |

(-1, 6) fRram (-3, 10) AW (6, -8) P TSR TE W@ A
TSI T g

(-1, 6) &g (=3, 10) 30K (6, — 8) F waNft Y@ =1 foFd g T WO A 2,
Tl =)

16. Show that / (Y& @ / (e @ / RAIR / e = 5

c0s38°c0s52° - sin38°sin52°=0 £

17. In AABC, /B=90° and tanA=1. Then

show that
2sin AcosA =1.

AABCY 4£B=90° W& tanA=1, (=2 me @
2sin AcosA =1 d

AABC-493 ZB =90° R tan A =1, OI%(& (7918 @ 2 sin AcosA =1,
AABC T4 ZB =90° ¥R tan A =1, *fen R R 2sin Acos A =1

AABC @1 AB=90°31"RtanA=1,ﬁWﬁﬁQsinAcosA:l

18-GM/19A
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18. One card is drawn from a well-shuffled deck of 52 cards. Find
the probability of getting a spade.

S e 52 TbATe U AR SbeTed {1 Q9 Obee B (el
3’5 | OO TR (AR STEifer fRefg 47 |

seerd fiffe T 526 o1 A @3 eI s (A 93 S G
ST 27 | SPIbT TR ANSHE FSIRel T 3¢ |

e TARAE J=8 M 52 99 faeamfer T am faer anE S|
T ARAER ST g |

3t @1 @ Ty Y 52 W ¥ U6 ¥ U ya feve foran ) 3% 9 % o
¥ T B & Wil 31d F |

CotA-cosA _ cosecA -1 o
cotA+cosA cosecA+1

19. Prove that

cotA—-cCcosA _ cosecA-1
cotA+cosA cosecA+1

qqEe P A

cotA-cosA cosecA-1
cotA+cosA cosecA+1

AT A A

: & cotA-cosA cosecA-1
cotA+cosA cosecA+1

cotA-cosA cosecA-1
cotA+cosA cosecA+1

s U TR
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SECTION—C / s—T4t / s [ T—aTEr [ T—IEn

i - 2

- ‘ 20. Find the zeros of the quadratic polynomial x +7x+.10 i 3
| verify the relationship between the zeros and the coefficients.

|

| x2+7x+1owmwﬁ%ﬁ@waivfuwmwm
| Fod of_rF 41 |

2 4 Tx+10 Fare owoa *FHeeE (@@ T 4R 43 XD R TRAGET
TR o 2R I

| x2+7x+1owﬁmﬁiﬁﬁm’w@ﬁymaﬁ@’wmm
| SRR E g SRR o AR

x2+7x+1omﬁm%@®m$ﬁﬁﬂﬁ$ﬁﬂmwa‘mﬁ“
ey HTE |

Or / %41 / 91 / T&r [ Hual
|| Divide 2x2 +3x+1 by x+2.

x+2 @2x% +3x+13 I
X +2 TR 22 +3x +1 (F SR A

21. For which values of a and b does the following pair of linear

equations have an infinite number of solutions?

3

q 5@ b3 & TR (FIe TR ARSI @R SRR RGE LA
e ?
a @@ b-a3 T IR CF@ Moo RS SRR (e SR FRYGF AN
A ?
q IR b T M AN YEE TEEH FERni ' ; BIES
ST HTEGATs AT Y S 8 :
q 3 b ¥ FA-H A F & § Ty .

o g wierm IR A I wwE

2x+3y=7
(@-b)x+@+by=3a+b-2
B18-GM/19A
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32/F‘/ind the roots of the following quadratic equation : 3

woq fRurS FATIACCH Fo1 fefy <
e faare et 351 Wefa e -
e ST FEEes JewEt i
frefafaa fama wieo =1 q@ Fefa =0
2x% -22x+1=0

23. Find the value of k for the following quadratic equation, so that
it has two equal roots : 3

WW@WWW@HWWW,WWW@IW@:
fcare fagre ¥RRaba CFeq k-3 T (@ A, TS 9K G A T =

e S gameEh g k T T g sed SERi A9 WA quH
SR

fafifaa fium wfie & o k= wm fofa w0 Se@ 7 s [ 1@
T 8

2x2 +kx+3=0

24. Find the sum of the first 24 terms of the list of numbers whose
nth term is given by a, =3+ 2n. 3

G Y OIfPR AN 24T e @SiFE R I A" nmew omh
ap, =3+2n.

a3 iy o 2w 246 oo @ered T 9@ I® ey o
a, =3+ 2n.

safmer fait fife 24 foemmr aemamid fgq swfy fy femn

a, =3+2n.

T HE1 H Al H YA 24 G& AR v ) Rme naw wg 8

a, =3+ 2n.

B18-GM/19A [ Contd.



(12 )

25. If the line segment XY is parallel to side AC of AABC and 1t

XB
s, then find —. 3

divides the triangle in two parts of equal area AB

| I XY @U=e AABC 3 AC Id SdE =, % 2 fape 251 ST T

701 TS Ol (S, c@z@%ﬁq‘aWI

I XY G@aIe AABC-ad AC I7 SRaE =, @< «oft fagafoce
wﬁaﬁwmwm,w%ﬁa‘nml

3R Xy g@@en AABC i AC smafft fom sm S SeneRiel
ﬁwmﬁmw,m%@ﬁgﬂl

|
!' IR XY t@rEve AABC 9 AC SN #1 wE & i 78 Brge # T e
| li ma@aaﬁﬁmmaa%ﬁuﬁm

~ Find the value of k if the points A (2, 3), B (4, k)and C (6, —3) are

collinear. 3

i A (2, 3), B4, k) 9% C (6, - 3) NI I, (%3 kI W fefy

9] |

i A(2, 3), B(4, k) 9 C(6, -3) M@l @ =W, OReE kT T

fef T |

R A 3 B4 k) 3 C(6 -3) Fwm d-graiar sween, k R

@ g |

af A (2, 3), B4, k)3 C (6, - 3) fogd whiedm &, A k =1 7w Fokw
B18-GM/19A [ Contd.
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27/ Find the area of the shaded region in the given figure, where
ABCD is a square of side 14 cm : 3

o] foqe ABCD @bl 14 ci.ﬁ.mﬁﬁr@a%%@fﬁa—wwmﬁﬁwmm

WGQT:
57 fora ABCD @3 14 ﬁ.ﬁ.mﬁﬁﬁaﬁnwmwmﬁ@aw

Terafy grETiEE ABCD 3 AMa 14 9. fi a7 s | S i

T BN Teeg geansty g
=g fas # ABCD T 14 Ho Hlo gm-%ﬁmaﬁ%lmﬁaﬁmwrﬁa
3% 1 S e

A B

SECTION—D / ¥—i / =211 / g—aTer / 9—InEn

\M\}é the following pair of equations by reducing them to a pair
of linear equations : 4

Wﬂﬁﬂﬂ@ﬁmwﬁﬂwﬁm@wﬁwmw:

ﬁmaﬁwacﬁmﬁ@%ﬁwm@mmwww;
mmma’@ma@mma’mmﬁwaw

fog -
ﬁm%ﬁﬁqﬁm%aﬁﬁ%aﬁwﬁwmw@:
10 2 15 5
ity - = -2
x+y x-Y xX+Yy Xx-Yy
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Or / 1%31 / %31 / vt / Srerar

The area of a rectangle gets reduced by 9 square units, if its
length is reduced by 5 units and breadth is increased by
3 units. If the length is increased by 3 units and breadth by

2 units, the area is increased by 67 square units. Find the
length and breadth of the rectangle.

vﬁaﬁwtﬁmsaﬂmwmsa@iﬁwmmm
w%gaefawmwwﬁmmsmwmzawﬁw
m,mﬁrﬁfmw@ﬂﬁﬂmlm%wwﬁ@a«

@ﬁwm@tﬁmvﬁsmmmmsawﬁwmw
uﬂamﬁ9asfawmmwﬁaatﬁm3awaaaﬁm2ﬁwﬁ
TR, ORCA A 67 3o 3 3 oK | ST o @3] 2 Wl T |

rﬁqﬁmmﬁmﬁsﬁsnﬂqﬁwmmmsm{ﬁ
WW,W%&WMgaﬁWWW|§E%ﬁW
suﬂgﬁmﬁm2wm,mwﬁm67aﬁm&aﬁl
3TA TSR ARTE AR TR R

ﬁ@mﬁmm%ﬁsmmaﬁtmsmqﬁmm,a
m%mgaﬁmmﬁm%laﬁmﬁmsmaﬂtmm

2 T gig fomm ,»aﬁéa'wmaﬁmq%am%pamam%z&w
Ty fauig

In an equilateral triangle ABC, D is a point on side BC, such
that BD = %BC. Prove that 9AD? = 7482

ABCwﬁﬂchwemDﬂﬁﬁﬁWBD=%BC.ﬁmqw

@ 9AD? =7AB?.

ABCWWC@WBCW%ﬂ@DaﬁﬁijoleC.Wq
3

@ @ 9AD? = 7AB2.
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ABcvﬁﬁaarr@ﬁTaqwﬁumﬁDmBCar@ﬁiﬁwmmﬁﬁﬁ

WﬁBD=%BCI®WHWﬁ9AD2 —7AB?.

wcmgﬁgamscw%wpwﬁgaﬁBD=é—BC%l
s &3 7% 9AD? = 7AB?.

30. From a point on 2 bridge across a Tiver, the angles of
depression of the banks on opposite sides of the river are 30°
and 45° respectively. If the bridge is at a height of 3 m from the

bank, find the width of the river.

g Y S AT TR QS o1 R o e 12 RIS T AR
ofe (P JUAEFCH 30° SF 45°1 T 17 A9 o[l 3 o Twors TEH
A, (08 A o e T

ﬁﬁa‘ﬂa‘@mwmﬁwaﬁﬁﬁcwﬁaﬁﬁﬁamw
1 D@ e @9 INFA 30° R 45°| T oFI B AR ¥ 3 oW
T ACF, OTRE v 2 e A |
ﬁhﬁmﬁmwwm@m@’wmﬁsm
m45°,§ﬁhﬁjﬁmmﬁaﬁm3ﬁmw, FecT EETfY TERE!
ez

T 74 H IR ya@a@qg(ﬁg)%@ﬁ@ﬁﬁ%aﬁqﬂa%wﬁ%
A7GAHA I FATHA 30°ﬁn45°%tuﬁw(ﬁ§)ﬁﬁmﬂﬁ31ﬁaiﬁr§
mﬁ,a‘fq‘q‘tﬁaﬁsﬁﬁmaﬁi

rom an external point T, two tangents TP and TQ are drawn to
a circle having its centre at O. Prove that ZPTQ =2Z0PQ. 4

aﬁa&:ﬁﬁrawow@nwﬁmwﬂ%wwmu@ﬂwfﬂn
o 91 A LPTQ =2£LO0OPOQ.

ol AR T (WCF O (FFW Jce T ~PIF TP R TQ & I e
o1 T @A LPTQ =2£0PQ.
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mmﬁzﬁrﬁmoﬁwmﬁﬁmﬁuﬁﬁﬁﬁza@rp I TQ
WW|WW%APTQ=240PQ.

W 9@ g TR O wa-gw 7% @ wniw TP s 7O sifea e T
T 0 e ZPTQ =2./0PQ.

-

327 Construct a triangle similar to a given triangle ABC with its
sides equal to % of the corresponding sides of the triangle ABC.

(Write the steps of construction.) 4

b1 27 fage ABC T ipite <1 fags Wi Wes TWR ARE@R ABC
@Wﬁmﬂmgﬁﬁm'&l(@@mﬁﬁ%ﬁml)

oI ame fagew ABC Fp1 @ft fagw i Wwe @7 I=SEN ABC
gt St ARG 2 QR ST 7 1 (STE N e 1)

A4 TrEME aE2am ABC 1 me@ SWm w1fed 9 @ stanf¥am Ry
STEr 9 SRS ABC sratfiemfy faid st 3 s g

S| (AReAT e fer i)

o R fiys ABC % wgn @ P #1 o w0 fed el o
Mcﬁw%wmgmmag(mwﬁ%@‘u)

C
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SECTION—E / &1 / &—¥| / g—argrm [ $—Imat

33. A hemisp?erical tank full of water is emptied by a pipe at the
rate of 35 litres per second. How much time will it take to
empty half the tank, if it is 3 m in diameter?
afe (IS sgmmﬁam@aﬁﬁﬁj#wﬁw (o1
1 <1 2 | I TWE e 3 L&, m@w@lm«mﬁaﬁﬁﬁw
pruic DE
T TR TR D Sy S (! fe G 33 R T
S =1 == | I @3 TP 3 R W, oA R dS Ao TS FO T

9N ?
Wﬂﬁ%ﬂsmsiﬁmgﬁﬁﬁqﬁaﬁﬁsﬁ a@mﬁwﬁﬁ@a@ﬁ

7
mmwmlgﬁmsﬁ.w,mmmm

ST S8e g9 A’
3%;ﬂagﬁlﬁmﬁa{ﬁmﬁm§mmﬂﬁt@ﬁ TR Zh
@ﬁ%ﬂlw%wﬁéﬁmmsm%,a‘léﬁﬁ e @t FE H
fpq gg T

Or/ﬂﬁ?T/WW/T@T/WW

75 cm in diameter and of thickness

How many silver coins, 1
to form a cuboid of dimensions

o2 mm, must be melted
55cm x 10 cm X 3:5cm?
5.5 f. x 10 @ f. x 35 @ f. W b1 G AR 175 & .

wwzﬁ.ﬁ.mﬁaﬁmﬁmﬁﬂ{mwwﬁm
c.5 01 . x 10 6L R x 35 6L R TR G G oA S
1.75 (1. fa. ICH @R o R, R, P71 A T L FAR THI ACS A ?

553, . x 103, fr. x 358 S TR SRR S ST
1-75ﬁ.ﬁ.@aaﬁ2ﬁ.ﬁ.ﬂaﬁwﬁmﬁc@aﬂﬁ st A A7

o x 35 Yo o T F TH Hud T & T

5.5 ®o o x 10 o
frch e el T fe wid-Fiffa @ A

1.75 o o =@ ® AR 2
e 9
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34" The following table shows the ages of the patients admitted in a

hospital during a year. Find the mode and mean of the given

data. Compare and Interpret the two measures of central
tendency : O

UEPTIC aw%ﬁawﬁmm%wwm S (TS A | @R
W@ﬁmwmmwmmtﬁmlmmmﬂa—w 39

P (IA)

Number of patients 6 11 21 23 14 i 5
R 3753

IR e

AT srfmy
it i g

* % %
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